Part 1. Data
	Stimulus (mV)
	CAP (mV)

	10
	-0.07

	20
	0.03

	30
	0.01

	40
	-0.02

	50
	0.04

	60
	-0.01

	70
	0.37

	80
	1.28

	90
	2.53

	100
	3.45

	110
	4.03

	120
	4.36

	130
	4.47

	140
	4.57

	150
	4.65

	160
	4.75

	170
	4.80

	180
	4.81

	190
	4.90

	200
	4.90
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Questions:
-	How does a CAP differ from a single action potential?
-	Action potentials are said to be all-or-none responses. Why does the frog sciatic nerve give a graded response?
-	In this activity, you examined the effect of increasing stimulus intensity on the nerve. What's another stimulus parameter that might also affect the nerve's tendency to generate a CAP? 
Part 2
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Part 3. Data:
	Interpulse Interval (ms)
	Amplitude 2nd CAP (mV)

	4.0
	4.84

	3.5
	4.74

	3.0
	4.66

	2.5
	4.54

	2.0
	4.13

	1.9
	4.08

	1.8
	3.93

	1.7
	3.74

	1.6
	3.54

	1.5
	3.25

	1.4
	2.66

	1.3
	2.01

	1.2
	1.44

	1.1
	0.77

	1.0
	0.43
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Questions:
1. In the table below, enter the interpulse interval at which you detect a decrease in the magnitude of the second CAP. This marks the end of the relative refractory period.
2. Enter the interpulse interval at which the second CAP first disappears. This marks the end of the absolute refractory period.
Fill out the table:
	
	Interpulse Interval (ms)

	End of relative refractory period
	

	End of absolute refractory period
	


· Explain the difference between the relative and absolute refractory periods.

· Briefly describe the cellular events responsible for the refractory period. (Hint: Think about the mechanism of repolarization).

Part 4. Data:
[image: Table
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Questions:

· Based on your calculation for CAP conduction velocity, how long would it take the CAP to travel the length of the sciatic nerve? Assume a total length of 100 mm.
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Complete the graph by labeling the title and axes.
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Refractory period

On the CAP below, select Annotate to indicate where the absolute and relative refractory periods are. 1pts
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